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(tqykbZ eSx”khu tk¡p ijh{kk)
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le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u fy[ksaA
	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA 

izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj 
dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh 
gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'ui=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ naM ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ naM ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 Hkkjr twV dk lcls cM+k mRiknd gSA
	 2-	 ckaXykns'k twV fu;kZr esa izFke gSA
	 3-	 Hkkjr mPp xq.koÙkk okys twV iQkbcj ds mRiknu 

esa ckaXykns'k ls vkxs gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 2-	twV dh Ñf"k gsrq vuqdwy ifjfLFkfr;ksa ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 rkieku 25-35 fMxzh- lsfYl;l ds eè; gksuk 
pkfg;sA

	 2-	 o"kkZ yxHkx 150-250 lseh- gksuh pkfg;sA
	 3-	 vPNh fudklh okyh tyks<+ e`nk gksuh pkfg;sA

	 	mi;ZqDr esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3
	 (d)	 1] 2 vkSj 3

	 3-	gky gh esa lokZsPp U;k;ky; us jktho xka/h dh gR;k 
ds ekeys esa nks"kh , th isjkfjoyu dks fjgk djus dk 
vkns'k lafo/ku ds fdl vuqPNsn ds rgr fn;k gS\

	 (a)	 vuqPNsn 142	 (b)	vuqPNsn 143
	 (c)	 vuqPNsn 135	 (d)	vuqPNsn 141

	 4-	jk"Vªifr dh {keknku djus dh 'kfDr ds varxZr 
fuEufyf[kr esa ls dkSu&lk@ls vf/dkj 'kkfey fd;s 
tkrs gSa\

	 1-	 {kek	 2-	fojke
	 3-	 y?kqdj.k	 4-	çfoyacu
	 5-	 ifjgkj

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2] 3 vkSj 5
	 (b)	 dsoy 3] vkSj 4
	 (c)	 dsoy 1] 2] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	 5-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 jk"Vªifr vkSj jkT;iky nksuksa e`R;q naM dh ltk dks 
ekiQ dj ldrs gSaA

	 2-	 jk"Vªifr vkSj jkT;iky nksuksa dks lSU; U;k;ky; }kjk 
naM fn;s x, ekeyksa esa {keknku dk vf/dkj gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 1.	 Consider the following statements:
	 1.	 India is the largest producer of jute.
	 2.	 Bangladesh is the top country in export of jute.
	 3.	 India is ahead of Bangladesh in the production 

of high quality jute fiber.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 2.	 With reference to favorable conditions for the 

cultivation of jute, consider the following 
statements:

	 1.	 Temperature should be between  25-35 degrees 
Celsius.

	 2.	 Rainfall should be is about 150-250 cm.
	 3.	 There should be alluvial soil with good 

drainage.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 3.	 under which Article of the Constitution, recently 

the Supreme Court of India has ordered the release 
of AG Perarivalan, convicted in the Rajiv Gandhi 
assassination case?

	 (a)	 Article 142	 (b)	 Article 143
	 (c)	 Article 135	 (d)	 Article 141
	 4.	 Which of the following powers are included in the 

President's power to pardon?
	 1.	 pardon 	 2.	 Respite
	 3.	 Commutation 	 4.	 Reprieve
	 5. 	 Remission
		  Select the correct answer using the code given  

below :
	 (a)	 1, 2, 3 and 5 only
	 (b)	 3, and 4 only
	 (c)	 1, 2, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 5
	 5.	 Consider the following statements:
	 1.	 Both the President and the Governor can 

pardon the sentence of death.
	 2.	 Both the President and the Governor have the 

power to pardon cases awarded by military 
courts.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 neither 1 nor 2
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	 6-	jk"Vªifr dks fuEufyf[kr esa ls fdu ekeyksa esa fdlh 

Hkh vijk/ ds fy;s nks"kh O;fDr dks {kek nsus dh 'kfDr 

çnku dh xbZ gS\

	 1-	 lSU; U;k;ky; }kjk naM fn;s x, ekeyksa esa

	 2-	 la?kh; fof/ ds fo#¼ fdlh vijk/ esa fn;s x, 

naM ds ekeyksa esaA

	 3-	 e`R;q naM ls tqM+s ekeyksa esaA

	 4-	 varjkZ"Vªh; U;k;ky; }kjk fn;s x, naM ds ekeyksa esaA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2 vkSj 3
	 (b)	 dsoy 1] 2 vkSj 4
	 (c)	 dsoy 3 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	 7-	jk"Vªh; fiQYe fodkl fuxe ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1-	 ;g lwpuk ,oa çlkj.k ea=kky; ds v/hu dk;Zjr 

,d lkoZtfud {ks=k miØe gSA

	 2-	 fiQYe fMohtu] fiQYe lekjksg funs'kky;] Hkkjrh; 

jk"Vªh; fiQYe vfHkys[kkxkj vkSj cky fp=k lfefr 

dk blesa foy; fd;k tk,xkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 8-	iwtk LFky (fo'ks"k çko/ku) vf/fu;e 1991 ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g vf/fu;e ih-oh ujflEgk jko dh ljdkj }kjk 

yk;k x;k FkkA

	 2-	 ;g vf/fu;e /eZfujis{krk ds çfr çfrc¼rk dks 

ykxw djus ds fy;s nkf;Ro dks fu/kZfjr djrk gSA

	 3-	 bl vf/fu;e ds rgr iwtk LFky dk pfj=k mlh 

çdkj cuk jgsxk] tSlk fd 15 vxLr] 1947 rd 

vfLrRo esa FkkA

	 4-	 ;g vf/fu;e çkphu Lekjd vkSj iqjkrRo LFky 

vkSj vo'ks"k vf/fu;e] 1958 ds rgr vkus okys 

LFkyksa ij Hkh ykxw gksrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1] 3 vkSj 4
	 (b)	 dsoy 1] 2 vkSj 3
	 (c)	 dsoy 2 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	 6.	 In which of the following cases the President has 
been empowered to pardon a person convicted of 
any offence?

	 1.	 In cases sentenced by military court
	 2.	 In cases of punishment awarded for an offense 

against federal law.
	 3.	 In cases involving the death penalty.
	 4.	 In cases of punishment awarded by the 

International Court of Justice.
		  Select the correct answer using the code given  

below :
	 (a)	 1, 2 and 3 only
	 (b)	 1, 2 and 4 only
	 (c)	 3 and 4 only
	 (d)	 1, 2, 3 and 4
	 7.	 With reference to National Film Development 

Corporation, consider the following statements:
	 1.	 It is a Public Sector Undertaking working 

under the Ministry of Information and 
Broadcasting.

	 2.	 The Film Division, Directorate of Film 
Festivals, National Film Archives of India 
and Children's Pictures Committee will be 
merged into it.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 neither 1 nor 2
	 8.	 With reference to the Places of Worship (Special 

Provisions) Act 1991, consider the following 
statements:

	 1.	 This act was brought by the government of 
PV Narasimha Rao.

	 2.	 This Act stipulates the obligation to enforce 
the commitment to secularism.

	 3.	 The character of the place of worship under 
this Act shall continue to be the same as it 
existed till 15th August 1947.

	 4.	 The Act also applies to sites covered under 
the Ancient Monuments and Archaeological 
Sites and Remains Act, 1958.

		  Which of the above statements is/are correct?
	 (a)	 1, 3 and 4 only
	 (b)	 1, 2 and 3 only
	 (c)	 2 and 4 only
	 (d)	 1, 2, 3 and 4
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	 9-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 laln (fujgZrk fuokj.k) vf/fu;e] 1959 ^ykHk 
ds in* ds vk/kj ij dbZ inksa dks v;ksX;rk ls 
NwV nsrk gSA

	 2-	 mi;ZqDr vf/fu;e esa ik¡p ckj la'kks/u fd;k 
x;k gSA

	 3-	 ^ykHk dk in* 'kCn Hkkjr ds lafo/ku esa vPNh 
rjg ls ifjHkkf"kr gSA

	 4-	 lafo/ku dk vuqPNsn 102(1)(a) vkSj 191(1)(a) 
ykHk dk in /kj.k djus ls çfrcaf/r djrk gSA 

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 1] 2 vkSj 4
	 (c)	 dsoy 2] 3 vkSj 4	 (d)	1] 2] 3 vkSj 4

	10-	varjkZT;h; ifj"kn ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 varjkZT;h; ifj"kn dh vè;{krk ç/kuea=kh }kjk dh 
tkrh gSA

	 2-	 blesa ç/kuea=kh }kjk euksuhr 10 dSfcusV jSad ds 
ea=kh 'kkfey gksrs gSaA

	 3-	 ;g ,d lykgdkjh fudk; gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 3	 (d)	2 vkSj 3

	 11-	varjkZT;h; ifj"kn LFkk;h lfefr ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 bldh vè;{krk dsaæh; x`gea=kh }kjk dh tkrh gSA
	 2-	 blesa dSfcusV jSad ds 5 dsaæh; ea=kh 'kkfey gksrs gSaA
	 3-	 bl ifj"kn ds vè;{k }kjk ukfer 9 jkT;ksa ds 

eq[;ea=kh 'kkfey gksrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	12-	{ks=kh; ifj"kn ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 bldh LFkkiuk o"kZ 1956 esa jkT;ksa ds iquxZBu ls 
mRiUu pqukSfr;ksa ls fuiVus gsrq dh xbZ FkhA

	 2-	 jkT; iquxZBu vf/fu;e 1956 ds Hkkx 3 ds rgr 
ik¡p {ks=kh; ifj"knksa dh LFkkiuk dh xbZ FkhA

	 3-	 iwokZsÙkj ifj"kn dh LFkkiuk ukWFkZ&bZLV dkmafly ,DV 
1972 ds rgr dh xbZ FkhA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 9.	 Consider the following statements:
	 1.	 The Parliament (Prevention of Disqualification) 

Act, 1959 exempts a number of posts from 
disqualification on the ground of 'office of 
profit'.

	 2.	 The above Act has been amended five times.
	 3.	 The term 'office of profit' is well defined in 

the Constitution of India.
	 4.	 Articles 102(1) (a)	 and 191(1) (a) of the 

Constitution prohibit him from holding office 
of profit.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 3 only 	 (b)	 1, 2 and 4 only
	 (c)	 2, 3 and 4 only 	 (d)	 1, 2, 3 and 4
	 10.	 With reference to the Inter-State Council, consider 

the following statements:
	 1.	 The Inter-State Council is Chaired by the 

Prime Minister.
	 2.	 It consists of 10 cabinet rank ministers 

nominated by the Prime Minister.
	 3.	 It is an advisory body.
		  Which of the above statement(s) is/are not correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 1 and 3 	 (d)	 2 and 3
	 11.	 With reference to the Inter-State Council Standing 

Committee, consider the following statements:
	 1.	 It is chaired by the Union Home Minister.
	 2.	 It consists of 5 Union ministers of cabinet 

rank.
	 3.	 The chief ministers of 9 states are included as 

nominees by the chairman of this council.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 12.	 With reference to the Zonal Council, consider the 

following statements:
	 1.	 It was established in the year 1956 to 

deal with the challenges arising out of the 
reorganization of the states.

	 2.	 Under Part III of the States Reorganization Act 
1956, five Zonal Councils were established.

	 3.	 The North-East Council was established under 
the North-East Council Act 1972.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
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	 13-	th,lVh ds laca/ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1-	 th,lVh ,d cgqpj.kh;] xarO; vk/kfjr dj gSA

	 2-	 ;g dsoy vafre :i ls mRikfnr oLrq ij yxrk 

gS] u fd çR;sd ewY;o¼Zu ij yxrk gSA

	 3-	 ç/kuea=kh dh vè;{krk esa th,lVh ifj"kn th,lVh 

ds laca/ esa egÙoiw.kZ fu.kZ; ysrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	14-	Hkkjr ds bfrgkl ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1-	 1927 esa lkbeu deh'ku us Hkkjrh; jkT;ksa vkSj 

çkarksa dk la?k LFkkfir djus dh fliQkfj'k dh FkhA

	 2-	 1931 esa ykWMZ foLdkmaV ihy dh vè;{krk esa 

xfBr lfefr us dsaæ vkSj çkarksa ds chp vk;dj 

lk>k fd;s tkus dk lq>ko fn;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 15-	th,lVh ij dkuwu cukus dh jkT;ksa dh 'kfDr ds lanHkZ 

esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 th,lVh ij dkuwu cukus ds laca/ esa la?k vkSj 

jkT; fo/kulHkkvksa ds ikl leku vf/dkj gSaA

	 2-	 th,lVh ifj"kn dh fliQkfj'ksa la?k vkSj jkT; 

foèkkf;dk nksuksa ds fy;s ckè;dkjh gSaA

	 3-	 eky vk;kr ds ekeys esa Hkqxrku fd;s x, leqæh 

eky ij th,lVh vko';d gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 16-	lgdkjh ,oa çfrLi¼hZ la?kokn&uhfr dh igy esa 

fuEufyf[kr esa ls dkSu&lk@ls 'kkfey gS@gSa\

	 1-	 jkT;ksa@ftyksa ds chp vf/d çfrLi/kZ ds fy;s 

lwpdkad

	 2-	 lrr~ fodkl ds y{;ksa dk LFkkuh;dj.k

	 3-	 iwokZsÙkj iQksje

	 4-	 vkdka{kh ftyk ;kstuk

	 5-	 jkT;ksa dks fodkl lgk;rk lsok& cqfu;knh <kapk

	 13.	 With reference to GST, consider the following 
statements:

	 1.	 GST is a multistage, destination based tax.
	 2.	 It is applicable only on the final product and 

not on each value added.
	 3.	 The GST Council headed by the Prime 

Minister takes important decisions regarding 
GST.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3

	 14.	 With reference to the history of India, consider the 
following statements:

	 1.	 In 1927, the Simon Commission recommended 
the establishment of a federation of Indian 
states and provinces.

	 2.	 In 1931, a committee constituted under the 
chairmanship of Lord Viscount Peel suggested 
sharing of income tax between the Center and 
the provinces.

		  Which of the above statements is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 15.	 With reference to the power of the states to make 

laws on GST, consider the following statements:
	 1.	 Union and State Legislatures have equal 

powers with regard to making laws on GST.
	 2.	 The recommendations of the GST Council 

are binding on both the Union and the State 
Legislatures.

	 3.	 GST is required on the sea freight paid in case 
of import of goods.

		  Which of the above statement(s) is/are not correct?
	 (a)	 1 and 2 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 16.	 Which of the following is/are included in the 

initiative of Cooperative and Competitive 
Federalism-Policy?

	 1.	 Index for High Competition among States/
Districts

	 2.	 Localization of Sustainable Development 
Goals

	 3.	 Northeast Forum
	 4.	 Aspirational District Plan
	 5.	 Development Support Services to States- 

Infrastructure
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	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2] 3 vkSj 5
	 (b)	 dsoy 3 vkSj 4
	 (c)	 dsoy 1] 2] 4 vkSj 5
	 (d)	 1] 2] 3] 4 vkSj 5

	 17-	oSf'od Lrj ij [kk| eqækLiQhfr ds c<+us ds dkj.kksa esa 
'kkfey fd;s tk ldrs gSa\

	 1-	 ;q¼ ds dkj.k vkiwfrZ esa O;o/ku
	 2-	 dPps rsy dh mPp dhersa
	 3-	 tSo&b±/u gsrq eDdk] phuh] rkM+ vkSj lks;kchu 

rsy dh mPp dhersa

	 	uhps fn;s x, dwV dk iz;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 18-	varjkZ"Vªh; Je laxBu }kjk tkjh ̂ oYMZ vkWiQ odZ* fjiksVZ 
ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;sA

	 1-	 o"kZ 2022 dh igyh frekgh esa oSf'od Lrj ij 
dke djus okys ?kaVksa dh la[;k dksfoM egkekjh 
ls igys jkstxkj dh fLFkfr ls vf/d gqbZ gSA

	 2-	 bl fjiksVZ ds vuqlkj jkstxkj ds mRiUu ladV dk 
dkj.k phu esa ykWdMkmu] ;wØsu&:l ;q¼ vkSj 
[kk| ,oa b±/u dh dherksa esa oSf'od o`f¼ gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 19-	varjkZ"Vªh; Je laxBu }kjk tkjh ̂ oYMZ vkWiQ odZ* fjiksVZ 
esa Hkkjr esa jks”kxkj ifjn`'; esa ySafxd varjky ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 dksfoM egkekjh ds igys dk;Z ij tkus okyh 
çR;sd 100 efgykvksa esa vkSlru 12-3 efgykvksa 
dh ukSdjh NwV xbZ gSA

	 2-	 blh vof/ esa efgykvksa dh rqyuk esa iq#"kksa us 
vkSlru vf/d ukSdjh [kksbZ gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	20-	pkyw [kkrk ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 Hkkjr ds pkyw [kkrk ?kkVk dk c<+uk eq[; :i ls 
mPp O;kikj ?kkVs ds dkj.k gSA

	 2-	 Hkkjr lsokvksa ds O;kikj esa vf/'ks"k dh fLFkfr 
esa gSA

		  Select the correct answer using the code given  
below :

	 (a)	 1, 2, 3 and 5 only
	 (b)	 3, and 4 only
	 (c)	 1, 2, 4 and 5 only
	 (d)	 1, 2, 3, 4 and 5
	 17.	 The reasons for the rise in food inflation at the 

global level can be included?
	 1.	 Supply Disruption Due to War
	 2.	 Higher crude oil prices
	 3.	 High prices of corn, sugar, palm and soybean 

oil for biofuels
		  Select the correct answer using the code given  

below :
	 (a)	 1 and 2 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 18.	 With reference to the 'World of Work' report 

released by the International Labor Organization, 
consider the following statements.

	 1.	 The number of hours worked globally in the 
first quarter of 2022 exceeded the pre-Covid 
pandemic employment situation.

	 2.	 According to this report, the cause of the 
employment crisis is the lockdown in China, 
the Ukraine-Russia war and the global 
increase in food and fuel prices.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 19.	 With reference to the gender gap in the employment 

scenario in India, in the 'World of Work' report 
released by the International Labor Organization, 
consider the following statements:

	 1.	 An average of 12.3 women have lost their 
jobs for every 100 women who went to work 
before the COVID pandemic.

	 2.	 On average, men lost more jobs than women 
during the same period.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 20.	 With reference to the current account, consider the 

following statements:
	 1.	 The widening of India's current account deficit 

is mainly due to the high trade deficit.
	 2.	 India is in a position of surplus in the trade of 

services.
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	 3-	 pkyw [kkrk ds varxZr iwath [kkrk] O;kikj [kkrk 
vkSj vn`'; [kkrk vkrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	21-	LVS afMax fMikWftV iQSflfyVh (Standing Deposit 
Facility-SDF) ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 rjyrk çca/u ds lk/u ds :i esa bldh fliQkfj'k 
mftZr iVsy lfefr (2014) us dh FkhA

	 2-	 ;g fcuk fdlh ljdkjh çfrHkwfr ds cnys esa 
vuqlwfpr okf.kfT;d cSadksa ls rjyrk dks vo'kksf"kr 
djus dk ,d lk/u gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 22-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 tkikuh ;su fo'ks"k vkgj.k vf/dkj ckLdsV esa gky 
gh esa 'kkfey eqæk gSA

	 2-	 fo'ks"k vkgj.k vf/dkj eqæk ewY; dh x.kuk 
lkIrkfgd vk/kj ij dh tkrh gS rFkk ewY;kadu 
ckLdsV dh leh{kk ,oa  bldk lek;kstu çR;sd 
Ng eghus ds varjky ij fd;k tkrk gSA

	 3-	 Hkkjr ds ikl fo'ks"k vkgj.k vf/dkj dksVk yxHkx 
2-75 çfr'kr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 3
	 (c)	 2 vkSj 3	 (d)	dsoy 2

	23-	ÚaV jfuax ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1-	 ,d lansgkRed cktkj&çFkk gS] ftlesa fdlh Mhyj] 
O;kikjh ;k deZpkjh dks fdlh iQaM ;k cM+s fuos'kd 
}kjk 'ks;jksa dks [kjhnus ;k cspus ds fy, ,d cM+s 
vkWMZj ds ckjs esa ladsr feyrk gSA

	 2-	 blls fuos'kdksa dks LVkWd [kjhnus ;k cspus ds fy;s 
dherksa dh cksyh c<+k dj ;k de djds mu ij 
çfrdwy çHkko Mkyk tk ldrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 3.	 Current account includes capital account, 
trade account and invisible account.

		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 3 only	 (d)	 1, 2 and 3

	 21.	 With reference to the Standing Deposit Facility 
(SDF), consider the following statements:

	 1.	 It was recommended by Urjit Patel Committee 
(2014) as an instrument of liquidity 
management.

	 2.	 It is a means of absorbing liquidity from 
scheduled commercial banks without 
exchange of any government security.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only

	 (b)	 2 only

	 (c)	 Both 1 and 2

	 (d)	 Neither 1 nor 2

	 22.	 Consider the following statements:
	 1.	 The Japanese yen is the most recently added 

currency to the Special Drawing Rights 
Basket.

	 2.	 The Special Drawing Rights currency value is 
calculated on a weekly basis and the valuation 
basket is reviewed and adjusted every six 
months.

	 3.	 India has about 2.75 percent of the Special 
Drawing Rights quota.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 3 only

	 (c)	 2 and 3 	 (d)	 2 only

	 23.	 With reference to front running, consider the 
following statements:

	 1.	 A skeptical market practice, in which a dealer, 
trader or employee receive signal  about a 
large order by a fund or large investor to buy 
or sell shares.

	 2.	 This can adversely affect the investors by 
raising or lowering the bid prices to buy or 
sell the stock.

		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 2 only

	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
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	 24-	fgan&ç'kkar O;kikj <kapk ds lanHkZ esa fuEufyf[kr dFkuksa 
esa ls dkSu&lk@ls lgh gS@gSa\

	 1-	 bls vesfjdh jk"Vªifr tks ckbMsu }kjk 'kq: fd;k 
x;k gSA

	 2-	 bl {ks=k ds ns'kksa ds eè; vkfFkZd Hkkxhnkjh dks 
etcwr djus ds fy;s fMftVy vFkZO;oLFkk] vkiwfrZ  
Ük`a[kyk] LoPN ÅtkZ vkSj fu"i{k vFkZO;oLFkk esa 
fu;eksa ,oa ekudksa dks LFkkfir djuk gSA

	 3-	 vkfl;ku lewg ds ns'k dacksfM;k] ykvksl] E;kaekj 
vkfn blesa 'kkfey gSaA

	 4-	 Hkkjr bl igy ds 'kq#vkrh lnL;ksa esa 'kkfey gSA 

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	dsoy 1] 2 vkSj 4
	 (c)	 dsoy 3 vkSj 4	 (d)	1] 2] 3 vkSj 4

	 25-	DokM f'k[kj lEesyu 2022 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 bl lEesyu dk vk;kstu VksD;ks tkiku esa 
fd;k x;kA

	 2-	 bl lEesyu ds nkSjku baMks&iSflfiQd ikVZujf'ki 
iQkWj eSjhVkbe Mksesu vos;jusl dh ?kks"k.kk dh xbZA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 26-	ukfMZd ns'kksa esa fuEufyf[kr esa ls dkSu&ls ns'k 'kkfey gSa\

	 1-	 MsuekdZ	 2-	vkblySaM
	 3-	 uhnjySaM	 4-	fiQuySaM
	 5-	 ukWoZs	 6-	LohMu

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA

	 (a)	 dsoy 1] 2] 3 vkSj 6
	 (b)	 dsoy 3] 4 vkSj 5
	 (c)	 dsoy 1] 2] 4] 5 vkSj 6
	 (d)	 1] 2] 3] 4] 5 vkSj 6

	 27-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 fiQuySaM vkSj LohMu us ukVks esa 'kkfey gksus ds 
fy;s vkosnu fd;k gSA

	 2-	 rqdhZ us fiQuySaM vkSj LohMu ds ukVks esa 'kkfey 
gksus dk fojks/ fd;k gSA

	 3-	 'khr ;q¼ ds nkSjku fiQuySaM vkSj LohMu nksuksa 
rVLFk FksA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 24.	 With reference to the Indo-Pacific trade structure, 
which of the following statements is/are correct?

	 1.	 It is launched by US President Joe Biden.
	 2.	 To establish rules and standards in the digital 

economy, supply chain, clean energy and fair 
economy to strengthen economic partnership 
among the countries of the region.

	 3.	 ASEAN group countries include Cambodia, 
Laos, Myanmar etc.

	 4.	 India is one of the early members of this 
initiative.

		  Select the correct answer using the code given  
below :

	 (a)	 1, 2 and 3 only	 (b)	 1, 2 and 4 only
	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4
	 25.	 With reference to the Quad Summit 2022, consider 

the following statements:
	 1.	 This conference was organized in Tokyo, 

Japan.
	 2.	 The Indo-Pacific Partnership for Maritime 

Domain Awareness was announced during 
this conference.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 neither 1 nor 2
	 26.	 Which of the following countries are included in 

the Nordic countries?
	 1.	 Denmark 	 2.	 Iceland
	 3.	 Netherlands 	 4.	 Finland
	 5.	 Norway 	 6.	 Sweden
		  Select the correct answer using the code given 

below.
	 (a)	 1, 2, 3 and 6 only	
	 (b)	 3, 4 and 5 only
	 (c)	 1, 2, 4, 5 and 6 only
	 (d)	 1, 2, 3, 4, 5 and 6
	 27.	 Consider the following statements:
	 1.	 Finland and Sweden have applied to join 

NATO.
	 2.	 Turkey opposes Finland and Sweden joining 

NATO.
	 3.	 Both Finland and Sweden were neutral during 

the Cold War.
		  Which of the above statements is/are correct?
	 (a)	 1 and 2 only 	 (b)	 2 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
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	 28-	gky gh esa fdl ns'k us oSf'od lqj{kk igy dk çLrko 
j[kk gS\

	 (a)	 la;qDr jkT; vesfjdk
	 (b)	 phu
	 (c)	 Úkal
	 (d)	 Hkkjr

	29-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 gky gh esa ih,e eksnh us yqafcuh esa Hkkjr 
varjkZ"Vªh; ckS¼ laLÑfr vkSj fojklr LFky dsaæ 
dh vkèkjf'kyk j[khA

	 2-	 gky gh esa ih,e eksnh us 2566osa cq¼ t;arh 
lekjksg esa Hkkx fy;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 30-	jk"Vªh; tSo b±/u uhfr 2018 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 ;g uhfr tSo b±/u dks igyh ih<+h (1G)] nwljh 
ih<+h (2G) vkSj rhljh ih<+h (3G) esa oxhZÑr 
djrh gSA

	 2-	 ;g uhfr isVªksy ds lkFk lfEeJ.k ds fy;s bFksukWy 
ds mRiknu gsrq vf/'ks"k [kk|kUu ds mi;ksx dh 
vuqefr nsrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 31-	tSo b±/u ds lanHkZ esa fuEufyf[kr ;qXeksa ij fopkj 
dhft;s%

	 	 (tSo b±/u dh ih<+h)		 (?kVd)
	 1-	 igyh ih<+h (1G)	 &	ck;ks,FksukWy
	 2-	 nwljh ih<+h (2G)	 &	�E;qfufliy lkWfyM 

osLV ls cus Mªki bu 
Ý;wy

	 3-	 rhljh ih<+h (3G)	 &	tSo&lh,uth

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha	 (b)	dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe	 (d)	lHkh rhu ;qXe

	 32-	gky gh fdlus cSVjh LoSfiax uhfr dk elkSnk tkjh 
fd;k gS\

	 (a)	 ÅtkZ n{krk C;wjks
	 (b)	 uhfr vk;ksx
	 (c)	 uohu ,oa uohdj.kh; ÅtkZ ea=kky;
	 (d)	 lM+d ifjogu ,oa jktekxZ ea=kky;

	 28.	 Which country has recently proposed a global 
security initiative?

	 (a)	 United States of America
	 (b)	 China
	 (c)	 France
	 (d)	 India
	 29.	 Consider the following statements:
	 1.	 Recently PM Modi laid the foundation stone 

of India International Center for Buddhist 
Culture and Heritage Sites in Lumbini.

	 2.	 Recently PM Modi participated in the 2566th 
Buddha Jayanti celebrations.

		  Which of the above statements is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 neither 1 nor 2
	 30.	 With reference to the National Biofuel Policy 2018, 

consider the following statements:
	 1.	 This policy classifies biofuels into first 

generation (1G), second generation (2G) and 
third generation (3G).

	 2.	 This policy allows use of surplus food grains 
for production of ethanol for blending with 
petrol.

		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 31.	 With reference to biofuels, consider the following 

pairs:
		  (generation of biofuels)  (component)
	 1.	 First Generation (1G)     -  Bioethanol
	 2.	 Second Generation (2G) - Drop-in fuel made 
			                                         	  from municipal
			                                            solid waste
	 3.	 Third Generation (3G)   -  Bio-CNG
		  How many of the above pairs are correctly 

matched?
	 (a)	 none of the pairs 	 (b)	 only one pair
	 (c)	 only two pairs 	 (d)	 all three pairs
	 32.	 Who has released the draft Battery Swapping 

Policy recently?
	 (a)	 Bureau of Energy Efficiency
	 (b)	 NITI Aayog
	 (c)	 Ministry of New and Renewable Energy
	 (d)	 Ministry of Road Transport and Highways
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	33-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 fo'o LokLF; laxBu us viuh ^bZ&2025 igy* 
ds varxZr o"kZ 2025 rd eysfj;k mUewyu {kerk 
okys 25 ns'kksa dh igpku dh gSA

	 2-	 Hkkjr esa eysfj;k mUewyu ds ç;kl o"kZ 2015 ls 
'kq: fd;s x, FksA

	 3-	 tqykbZ 2019 esa Hkkjr esa gkbZ cMZu Vw gkbZ bEiSDV 
igy dk fØ;kUo;u i- caxky] >kj[kaM] NÙkhlx<+ 
vkSj eè; çns'k esa 'kq: fd;k x;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 vkSj 3	 (b)	dsoy 2
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 34-	thukse ,fMfVax dh rduhd esa fuEufyf[kr esa ls 
dkSu&lk@ls 'kkfey gS@gSa\

	 1-	 ftad fiQaxj U;wDyht
	 2-	 VªkalfØI'ku ,fDVosVj& ykbd ,iQsDVj U;wDyht
	 3-	 fØLij&dsl 9

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA

	 (a)	 dsoy 2 vkSj 3	 (b)	dsoy 2
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 35-	tsusfVd bathfu;fjax vkdyu lfefr ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g lfefr LokLF; ,oa ifjokj dY;k.k ea=kky; 
ds vèkhu dk;Z djrh gSA

	 2-	 ;g i;kZoj.k (laj{k.k) vf/fu;e 1986 ds rgr 
vf/lwfpr ,d oS/kfud fudk; gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 36-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 f'kxsyksfll ,d thok.kq tfur laØe.k gSA
	 2-	 f'kxsyksfll ds fy;s dksbZ Vhdk miyC/ ugha gSA
	 3-	 f'kxsyksfll ,d iQsiQM+s dk laØe.k gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 37-	fuEufyf[kr esa ls fdl o"kZ ds var rd ohul fe'ku 
Hkstus dh ?kks"k.kk bljks us dh gS\

	 (a)	 2023	 (b)	2024
	 (c)	 2025	 (d)	2026

	 33.	 Consider the following statements:
	 1.	 The World Health Organization has identified 

25 countries with potential to eradicate 
malaria by the year 2025 under its 'E-2025 
Initiative'.

	 2.	 Efforts to eradicate malaria in India were 
started from the year 2015.

	 3.	 In July 2019, the implementation of the High 
Burden to High Impact initiative in India 
was launched in West Bengal, Jharkhand, 
Chhattisgarh and Madhya Pradesh.

		  Which of the above statement(s) is/are correct?
	 (a)	 2 and 3 only 	 (b)	 2 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 34.	 Which of the following is/are included in the 

technique of genome editing?
	 1.	 Zinc Finger Nuclease
	 2.	 Transcription Activator- Like Effector 

Nuclease
	 3.	 Crisper-Case 9
		  Select the correct answer using the code given 

below.
	 (a)	 2 and 3 only 	 (b)	 2 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 35.	 With reference to the Genetic Engineering 

Assessment Committee, consider the following 
statements:

	 1.	 This committee works under the Ministry of 
Health and Family Welfare.

	 2.	 It is a statutory body notified under the 
Environment (Protection) Act 1986.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 36.	 Consider the following statements:
	 1.	 Shigellosis is a bacterial infection.
	 2.	 There is no vaccine available for shigellosis.
	 3.	 Shigellosis is a lung infection.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 37.	 ISRO has announced to send Venus mission by the 

end of which of the following year?
	 (a)	 2023 	 (b)	 2024
	 (c)	 2025 	 (d)	 2026
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	 38-	,p,l 200 (HS200) lkWfyM jkWdsV cwLVj ds lanHkZ 
esa fuEufyf[kr dFkuksa esa ls dkSu ls lgh gSa\

	 1-	 bldk mi;ksx xxu;ku esa fd;k tk,xkA
	 2-	 ;g ijh{k.k FkqEck bDosVksfj;y jkWdsV ykWfUpax LVs'ku 

esa fd;k x;kA
	 3-	 ;g cwLVj batu ft;ksflaØksul lSVsykbV ykWUp 

Oghdy Mk-III jkWdsV dk fgLlk gSA
	 4-	 ,p,l 200 Bksl ç.kksnd dk mi;ksx djus okyk 

nqfu;k dk ik¡pok¡ lcls cM+k ifjpkfyr cwLVj gSA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;sA

	 (a)	 1 vkSj 2	 (b)	2 vkSj 4
	 (c)	 3 vkSj 4	 (d)	1 vkSj 3

	 39-	vksiu jsfM;ks ,Dlsl usVodZ (O-RAN) ds laca/ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s\

	 1-	 vksiu jsfM;ks ,Dlsl usVodZ ,d ,slh rduhd gS 
tks fofHkUu çdkj ds foØsrkvksa ds mi&?kVdksa dk 
mi;ksx djds usVodZ cukus dh vuqefr nsrh gSA

	 2-	 bldh çeq[k vo/kj.kk jsfM;ks ,Dlsl usVodZ esa 
fofHkUu mi&?kVdksa ds chp çksVksdkWy vkSj baVjiQsl 
dks [kksyuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 40-	MCY;w ckslkWu d.k ds lanHkZ esa fuEufyf[kr dFkuksa esa 
ls dkSu&lk@ls lgh gS@gSa\

	 1-	 ;g fo|qr :i ls rVLFk gSA
	 2-	 iQksVkWu ds foijhr ;g dkiQh cM+k gSA
	 3-	 bls igyh ckj ;wjksfi;u vkWxsZukbts'ku iQkWj U;wfDy;j 

fjlpZ (CERN) esa ns[kk x;k FkkA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3
	 (c)	 1 vkSj 3	 (d)	2 vkSj 3

	 41-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 fo'o okfudh dkWUxzsl gj ika¡p o"kZ esa vk;ksftr 
dh tkrh gSA

	 2-	 dksfj;k x.kjkT; }kjk vk;ksftr 15oha fo'o okfudh 
dkWUxzsl ,f'k;k esa vk;ksftr igyh dkWUxzsl FkhA

	 3-	 bls [kk| vkSj Ñf"k laxBu ds rÙoko/ku esa 
vk;ksftr fd;k x;kA

	 	mi;ZqDr dFkuksa esa ls dkSu lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 3
	 (c)	 1 vkSj 3	 (d)	2 vkSj 3

	 38.	 Which of the following statements are correct 
regarding the HS200 solid rocket booster?

	 1.	 It will be used in Gaganyaan.
	 2.	 The test was conducted at Thumba Equatorial 

Rocket Launching Station.
	 3.	 This  booster  engine is  par t  of  the 

Geosynchronous Satellite Launch Vehicle 
Mk-III rocket.

	 4.	 The HS 200 is the fifth largest operational 
booster in the world using solid propellant.

		  Select the correct answer using the code given 
below.

	 (a)	 1 and 2 	 (b)	 2 and 4
	 (c)	 3 and 4 	 (d)	 1 and 3
	 39.	 With reference to Open Radio Access Network 

(O-RAN), consider the following statements?
	 1.	 Open Radio Access Network is a technology 

that allows networks to be built using sub-
components from a variety of vendors.

	 2.	 Its key concept is to open protocols 
and interfaces between the various sub-
components in the radio access network.

		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
	 40.	 Which of the following statements is/are correct 

regarding W-boson particle?
	 1.	 It is electrically neutral.
	 2.	 Unlike the photon it is quite large.
	 3.	 It was first seen in the European Organization 

for Nuclear Research (CERN).
		  Select the correct answer using the code given  

below :
	 (a)	 1 and 2 only 	 (b)	 3 only
	 (c)	 1 and 3 	 (d)	 2 and 3
	 41.	 Consider the following statements:
	 1.	 The World Forestry Congress is held every 

five years.
	 2.	 The 15th World Forestry Congress organized 

by the Republic of Korea was the first 
Congress held in Asia.

	 3.	 It is Organized under the aegis of this Food 
and Agriculture Organization.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 3 only
	 (c)	 1 and 3 	 (d)	 2 and 3
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	 42-	fuEufyf[kr ij fopkj dhft;s%

	 1-	 n LVsV vkWiQ iQwM ,aM ,xzhdYpj
	 2-	 n LVsV vkWiQ ,xzhdYpj deksfMVht ekdZsV
	 3-	 LVsV vkWiQ n oYM~lZ iQkWjsLV~l fjiksVZ
	 4-	 n LVsV vkWiQ oYMZ fiQ'kjht ,aM ,DokdYpj

	 	mi;ZqDr esa ls fdldk@fdudk çdk'ku la;qDr jk"Vª [kk| 
,oa Ñf"k laxBu djrk gS@gSa\

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	dsoy 2 vkSj 4
	 (c)	 dsoy 1] 3 vkSj 4	 (d)	1] 2] 3 vkSj 4

	 43-	gky gh esa çdkf'kr ^n LVsV vkWiQ oYM~Zl iQkWjsLV fjiksVZ 
2022* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 ;g fjiksVZ [kk| ,oa Ñf"k laxBu dk çeq[k 
çdk'ku gSA

	 2-	 bl fjiksVZ ds vuqlkj o"kZ 2015 ls 2022 ds eè; 
20 fefy;u ou u"V gks x,A

	 3-	 ;g fjiksVZ gj nks o"kZ ij çdkf'kr gksrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 44-	Xykscy ySaM vkmVyqd fjiksVZ fuEufyf[kr esa ls fdlds 
}kjk tkjh dh tkrh gS\

	 (a)	 la;qDr jk"Vª [kk| ,oa Ñf"k laxBu
	 (b)	 la;qDr jk"Vª e#LFkyhdj.k jksdFkke vfHkle;
	 (c)	 la;qDr jk"Vª i;kZoj.k dk;ZØe
	 (d)	 oYMZ bdksukWeh iQksje

	 45-	la;qDr jk"Vª e#LFkyhdj.k jksdFkke vfHkle; ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 bldh LFkkiuk 1994 esa dh xbZ FkhA
	 2-	 ;g dkuwuh :i ls ckè;dkjh varjkZ"Vªh; le>kSrk gSA
	 3-	 ,tsaMk&21 ds rgr çR;{k fliQkfj'kksa ds varxZr 

LFkkfir ;g ,dek=k vfHkle; gSA
	 4-	 Hkkjr bldk gLrk{kjdrkZ ugha gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	dsoy 1] 2 vkSj 4
	 (c)	 dsoy 3 vkSj 4	 (d)	1] 2] 3 vkSj 4

	 46-	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1-	 tEew laHkkx ds lkack ftys dh iYyh iapk;r Hkkjr 
dh igyh dkcZu U;wVªy iapk;r cuh gSA

	 2-	 bl xk¡o ds lHkh fjdkWMZ fMftVy gks x, gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 42.	 Consider the following:
	 1.	 The State of Food and Agriculture
	 2.	 The State of Agriculture Commodities Market
	 3.	 State of the World's Forests Report
	 4.	 The State of World Fisheries and Aquaculture
		  Which of the above is/are published by the United 

Nations Food and Agriculture Organization?
	 (a)	 1, 2 and 3 only	 (b)	 2 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 1, 2, 3 and 4
	 43.	 With reference to the recently published 'The State 

of World's Forest Report 2022', consider the 
following statements:

	 1.	 This report is the flagship publication of the 
Food and Agriculture Organization.

	 2.	 According to this report, 20 million forests 
were destroyed between 2015 and 2022.

	 3.	 This report is published every two years.
		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 44.	 Global Land Outlook Report is released by which 

of the following?
	 (a)	 United Nations Food and Agriculture 

Organization
	 (b)	 United Nations Convention on Prevention of 

Desertification
	 (c)	 United Nations Environment Program
	 (d)	 World Economy Forum
	 45.	 With reference to the United Nations Convention 

on Prevention of Desertification, consider the 
following statements:

	 1.	 It was established in 1994.
	 2.	 It is a legally binding international agreement.
	 3.	 This is the only convention established under 

direct recommendations under Agenda-21.
	 4.	 India is not a signatory to it.
		  Which of the above statement(s) is/are correct?
	 (a)	 1, 2 and 3 only	 (b)	 1, 2 and 4 only
	 (c)	 3 and 4 only	 (d)	 1, 2, 3 and 4
	 46.	 Consider the following statements:
	 1.	 Palli Panchayat of Samba District of Jammu 

Division has become the first Carbon Neutral 
Panchayat in India.

	 2.	 All the records of this village have been 
converted into digital.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 only 	 (b)	 2 only
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
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	 47-	bZdks m|eh ;kstuk ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 bl ;kstuk dh ?kks"k.kk djus okyk mÙkjk[kaM ns'k 
dk igyk jkT; gSA

	 2-	 bldk mís'; ioZrh; {ks=kksa esa ;qokvksa ds fy;s jkstxkj 
ds bZdks&ÚsaMyh volj rS;kj djuk gSA

	 3-	 ;g m|fe;ksa dk ,d ,slk oxZ gS] tks çÑfr vkèkkfjr 
vkthfodk ds tfj;s çkÑfrd lalk/uksa dk laj{k.k 
djrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 3	 (d)	1] 2 vkSj 3

	 48-	fuEufyf[kr esa ls gky gh esa dkSu&lk ns'k dk 52ok¡ 
ck?k vHk;kj.; cuk\

	 (a)	 jkex<+ fo"k/kjh vHk;kj.;
	 (b)	 j.kFkaHkkSj jk"Vªh; m|ku
	 (c)	 lTtux<+ oU;tho vHk;kj.;
	 (d)	 lfjLdk Vkbxj fjtoZ

	49-	iSaVkuy vkæZHkwfe fuEufyf[kr esa fdl ns'k esa fLFkr gS\

	 (a)	 m#Xos
	 (b)	 czkthy
	 (c)	 ratkfu;k
	 (d)	 la;qDr jkT; vesfjdk

	 50-	baVjus'kuy MkdZ LdkbZ ohd ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1-	 baVjus'kuy MkdZ ,lksfl,'ku }kjk 20 ls 30 vçSy] 
2022 ds chp vk;ksftr fd;k x;kA

	 2-	 bldk mís'; çdk'k çnw"k.k ds udkjkRed çHkko 
ds laca/ esa tkx:drk c<+kuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 51-	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 (ck?k vHk;kj.;)		 (LFky)
	 1-	 rkMksck&va/kjh Vkbxj	 &	paæiqj	

fjtoZ
	 2-	 lfjLdk Vkbxj fjtoZ	 &	lhdj
	 3-	 esy?kkV Vkbxj fjtoZ	 &	vejkorh

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dksbZ Hkh ;qXe ugha
	 (b)	 dsoy ,d ;qXe
	 (c)	 dsoy nks ;qXe
	 (d)	 lHkh rhu ;qXe

	 47.	 With reference to the Eco Udyami Yojana, consider 
the following statements:

	 1.	 Uttarakhand is the first state in the country to 
announce this scheme.

	 2.	 Its objective is to create eco-friendly 
employment opportunities for the youth in 
hilly areas.

	 3.	 It is a class of entrepreneurs who conserve 
natural resources through nature based 
livelihood.

		  Which of the above statements is/are correct?
	 (a)	 1 only 	 (b)	 2 and 3 only
	 (c)	 3 only 	 (d)	 1, 2 and 3
	 48.	 Which of the following became the country's 52nd 

tiger reserve recently?
	 (a)	 Ramgarh Poison Dhari Sanctuary
	 (b)	 Ranthambore National Park
	 (c)	 Sajjangarh Wildlife Sanctuary
	 (d)	 Sariska Tiger Reserve
	 49.	 In which of the following countries the Pantanal 

wetlands located?
	 (a)	 Uruguay
	 (b)	 Brazil
	 (c)	 Tanzania
	 (d)	 United States of America
	 50.	 With reference to International Dark Sky Week, 

consider the following statements:
	 1.	 it was organized by the International Dark 

Association from 20 to 30 April 2022.
	 2.	 Its objective is to raise awareness about the 

negative effects of light pollution.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 neither 1 nor 2
	 51.	 Consider the following pairs:
		        (Tiger Sanctuary)              (site)
	 1.	 Tadoba-Andhari Tiger - Chandrapur Reserve
	 2.	 Sariska Tiger Reserve - Sikar
	 3.	 Melghat Tiger Reserve - Amravati
		  How many of the above pairs are correctly 

matched?
	 (a)	 none of the pairs
	 (b)	 only one pair
	 (c)	 only two pairs
	 (d)	 all three pairs
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	 52-	lkxj fury çlj.k ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1-	 bl çfØ;k esa u;k ØLV curk gSA
	 2-	 ;g vilkjh IysV lhekvksa ij gksrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	53.	uxjh; Å"ek }hi ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 uxjh; Å"ek }hiksa esa vkSlr rkieku fHkUurk 3 ls 
5 fMxzh lsfYl;l ds chp gksrk gSA

	 2.	 uxjh; Å"ek }hi ewy :i ls xSlksa ds xzhu gkml 
çHkko ls tqM+h ,d ?kVuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 54.	vkink vojks/h volajpuk ds fy;s xBca/u ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl lk>snkjh dh ?kks"k.kk 2019 esa Hkkjr us la;qDr 
jk"Vª tyok;q dk;Zokgh f'k[kj lEesyu esa dh FkhA

	 2.	 bldk eq[;ky; U;w;kWdZ esa gSA
	 3.	 blds lnL;ksa esa 25 ns'k vkSj 7 varjkZ"Vªh; laxBu 

'kkfey gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 3	 (d)	2 vkSj 3

	 55.	 lsankbZ ÚseodZ ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g vkink tksf[ke U;wuhdj.k ds fy;s gSA
	 2.	 blds y{;ksa esa vkink tksf[ke ds dkj.k çHkkfor 

yksxksa dh la[;k de djuk] tugkfu vkSj /u gkfu 
dks de djuk rFkk volajpuk ds uqdlku dks de 
djuk 'kkfey gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 56.	fladgksy ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bldk fuekZ.k dkLVZ lajpuk okys {ks=kksa esa gksrk gSA
	 2.	 bldk fuekZ.k çkÑfrd çfØ;kvksa ;k ekuo 

xfrfof/;ksa ds dkj.k gks ldrk gSA
	 3.	 Hkkjr esa dkLVZ LFkykÑfr foaè; {ks=k] fgeky; {ks=k 

vkfn esa ekStwn gSA

	 52.	 With reference to Seafloor spreading, consider the 
following statements:

	 1.	 A new crust is formed in this process.
	 2.	 It occurs at divergent plate boundaries.
		  Which of the above statement(s) is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 neither 1 nor 2
	 53.	 With reference to the urban heat island, consider 

the following statements:
	 1.	 The average temperature variation in urban 

heat islands ranges from 3°C. to 5 °C.
	 2.	 Urban heat island is basically a phenomenon 

associated with greenhouse effect of gases.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1	 (b)	 only 2
	 (c)		 Both 1 and 2	 (d)	 Neither 1 nor 2
	 54.	 With reference to the coalition for Disaster 

Resilient Infrastructure, consider the following 
statements:

	 1.	 This partnership was announced by India at 
the United Nations Climate Action Summit 
in 2019.

	 2.	 Its headquarter is situated in New York.
	 3.	 Its members include 25 countries and 7 

international organizations.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 only 2
	 (c)	 1 and 3 	 (d)	 2 and 3
	 55.	 Consider the following statements within the 

Sendai Framework:
	 1.	 It is for disaster risk reduction.
	 2.	 Its goals include reducing the number of 

people affected by disaster risk, minimizing 
loss of life and money, and minimizing 
damage to infrastructure.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1	 (b)	 only 2
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 56.	 With reference to the sinkhole, consider the 

following statements:
	 1.	 It is formed in areas with karst structure.
	 2.	 It can be formed due to natural processes or 

human activities.
	 3.	 Karst topography in India is present in 

Vindhya region, Himalayan region etc.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 57.	fuEufyf[kr esa ls dkSu&lk@ls dkLVZ LFkykÑfr esa fufeZr 
gksrk gS@gksrs gSa\

	 1.	 LVSysXekbV	 2.	danjk
	 3.	 yks,l	 4.	T;wxsu

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 1 vkSj 2	 (b)	2 vkSj 4
	 (c)	 3 vkSj 4	 (d)	1 vkSj 3

	 58.	vrqY; Hkkjr varjkZ"Vªh; Øwt lEesyu 2022 ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl lEesyu dk vk;kstu i;ZVu ea=kky; }kjk 
fd;k x;kA

	 2.	 bl lEesyu esa Hkkjr dks ,d Øwt gc ds :i esa 
fodflr djus ds fy;s j.kuhfr;ksa ij ppkZ dh xbZA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 59.	vle esa ck<+ vkus ds çeq[k dkj.kksa esa dkSu&lk@ls 
'kkfey fd;k tk ldrk gS@ldrs gSa\

	 1.	 Hkwdai@HkwL[kyu
	 2.	 rVh; vijnu
	 3.	 ekuo ,oa çÑfr tfur mPp ck<+ ço.krk
	 4.	 cka/ksa ls ikuh NksM+uk
	 5.	 ufn;ksa dk ekxZ ifjorZu
	 6.	 'kgjh {ks=kksa esa vfu;ksftr foLrkj
	 7.	 xqokgkVh dh LFkykÑfr

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%

	 (a)	 dsoy 1] 2] 4 vkSj 5
	 (b)	 dsoy 2] 3] 5] 6 vkSj 7
	 (c)	 dsoy 1] 3] 4] 6 vkSj 7
	 (d)	 1] 2] 3] 4] 5] 6 vkSj 7

	 60.	jk"Vªh; ifjokj LokLF; loZs{k.k (NFHS-5) ds nwljs 
pj.k dh fjiksVZ ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 Hkkjr dh dqy çtuu nj 2015&16 ds 2.2 ls 
?kVdj 2019&21 esa 2.0 gks xbZ gSA

	 2.	 mÙkj çns'k dh lcls T;knk çtuu nj gSA
	 3.	 fcgkj esa de mez esa fookg dh mPpre nj gSA
	 4.	 'kgjh {ks=kksa dh rqyuk esa xzkeh.k {ks=kksa esa cPpksa esa 

LVafVax vf/d gSA

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 57.	 Which of the following is/are formed in karst 

topography?
	 1.	 stalagmite 	 2.	 cavern
	 3.	 Loess 	 4.	 Zeugen

		  Select the correct answer using the code given 
below :

	 (a)	 1 and 2 	 (b)	 2 and 4
	 (c)	 3 and 4 	 (d)	 1 and 3
	 58.	 With reference to Incredible India International 

Cruise Summit 2022, consider the following 
statements:

	 1.	 The conference was organized by the Ministry 
of Tourism.

	 2.	 Strategies to develop India as a cruise hub 
were discussed in this conference.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1	 (b)	 only 2
	 (c)	 Both 1 and 2	 (d)	 neither 1 nor 2
	 59.	 Which of the following can be included in the 

major causes of floods in Assam?
	 1.	 Earthquake/Landslide
	 2.	 Coastal Erosion
	 3.	 High flood proneness caused by man and 

nature
	 4.	 Release of water from dams
	 5.	 Diversion of Rivers
	 6.	  Unplanned expansion in urban areas
	 7.	 Topography of Guwahati

		  Select the correct answer using the code given 
below :

	 (a)	 1, 2, 4 and 5 only
	 (b)	 2, 3, 5, 6 and 7 only
	 (c)	 1, 3, 4, 6 and 7 only
	 (d)	 1, 2, 3, 4, 5, 6 and 7

	 60.	 With reference to the report of Phase II of the 
National Family Health Survey (NFHS-5), 
consider the following statements:

	 1.	 India's total fertility rate has come down from 
2.2 in 2015-16 to 2.0 in 2019-21.

	 2.	 Uttar Pradesh has the highest fertility rate.
	 3.	 Bihar has the highest rate of early marriage.
	 4.	 Stunting is more among children in rural areas 

as compared to urban areas.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1] 2 vkSj 3
	 (b)	 dsoy 1] 3 vkSj 4
	 (c)	 dsoy 2 vkSj 4
	 (d)	 1] 2] 3 vkSj 4

	 61.	Hkkjr esa vlekurk dh fLFkfr ij fjiksVZ ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ç/kuea=kh dh vkfFkZd lykgdkj ifj"kn (bZ,lh& 
ih,e) }kjk ;g fjiksVZ tkjh dh xbZ gSA

	 2.	 ;g fjiksVZ lkaf[;dh vkSj dk;ZØe dk;kZUo;u 
ea=kky; ds vk¡dM+ksa ij vk/kfjr gSA

	 3.	 bl fjiksVZ ds vuqlkj 2019&20 esa Hkkjr esa 
csjkstxkjh dh nj 8 çfr'kr gSA

	 4.	 bl fjiksVZ ds vuqlkj Jfed tula[;k vuqikr 
46.8 çfr'kr gSA

	 	uhps fn;s x, dwV dk ç;ksx dj lgh mÙkj pqfu;s%
	 (a)	 1 vkSj 2	 (b)	2 vkSj 3
	 (c)	 3 vkSj 4	 (d)	1 vkSj 4

	 62.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 lokZsPp U;k;ky; us os';ko`fÙk dks ,d is'ks ds :i 

esa ekU;rk nh gSA
	 2.	 lokZsPp U;k;ky; us os';ko`fÙk ds ekeys esa lafoèkku 

ds vuqPNsn 142 ds rgr viuh fo'ks"k 'kfDr;ksa 
dk ç;ksx fd;k gSA

	 3.	 vuSfrd O;kikj (fuokj.k) vf/fu;e 1956 ds 
rgr os';ky; pykuk xSj&dkuwuh ugha gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 3
	 (c)	 1 vkSj 2	 (d)	2 vkSj 3

	 63.	jk"Vªh; cky laj{k.k vk;ksx ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bldh LFkkiuk 2007 esa dh xbZ FkhA
	 2.	 ;g ,d laoS/kfud fudk; gSA
	 3.	 blds vuqlkj ckyd dks 0 ls 14 o"kZ ds vk;q 

oxZ ds O;fDr ds :i esa ifjHkkf"kr djrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 3
	 (c)	 1 vkSj 2	 (d)	2 vkSj 3

	 64.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ljdkj ,ythchVhvkbZD;w $ O;fDr;ksa gsrq dk;Z dh 

HksnHkko jfgr çÑfr lqfuf'pr djus ds fy;s vkSj 
^oYMZ vkWiQ odZ* dh fn'kk esa dkjZokbZ ds fy;s 
,d dkuwuh] uhfrxr ,oa lkekftd <k¡pk çnku 
dj ldrh gSA

		  Which of the above statements is/are correct?
	 (a)	 1, 2 and 3 only
	 (b)	 1, 3 and 4 only
	 (c)	 2 and 4 only
	 (d)	 1, 2, 3 and 4

	 61.	 With reference to the Report on the State of 
Inequality in India, consider the following 
statements:

	 1.	 This report has been released by the Economic 
Advisory Council to the Prime Minister 
(EAC- PM).

	 2.	 This report is based on the data of the Ministry 
of Statistics and Program Implementation.

	 3.	 According to this report, the unemployment 
rate in India is 8 percent in 2019-20.

	 4.	 According to this report the labor population 
ratio is 46.8 percent.

		  Select the correct answer using the code given 
below :

	 (a)	 1 and 2 	 (b)	 2 and 3
	 (c)	 3 and 4 	 (d)	 1 and 4
	 62.	 Consider the following statements:
	 1.	 The Supreme Court has recognized prostitution 

as a profession.
	 2.	 The Supreme Court has exercised its special 

powers under Article 142 of the Constitution 
in the matter of prostitution.

	 3.	 Running a brothel is not illegal under the 
Immoral Traffic (Prevention) Act 1956.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 3 only
	 (c)	 1 and 2 	 (d)	 2 and 3
	 63.	 With reference to the National Commission for 

Protection of Children, consider the following 
statements:

	 1.	 It was established in 2007.
	 2.	 It is a constitutional body.
	 3.	 It defines a child as a person in the age group 

of 0 to 14 years.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 3 only
	 (c)	 1 and 2 	 (d)	 2 and 3
	 64.	 Consider the following statements:
	 1.	 Government may provide a legal, policy 

and social framework to ensure the non-
discriminatory nature of work for LGBTIQ + 
individuals and to act towards a 'World of 
Work'.
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	 2.	 fu;ksDrk laxBu ,ythchVhvkbZD;w$ deZpkfj;ksa ds 
fy;s dk;ZLFky okrkoj.k lqfuf'pr dj ldrs gSaA

	 3.	 Jfed laxBu ,ythchVhvkbZD;w$ dk;ZdrkZ laxfBr 
gksa vkSj la?k dh Lora=krk ds vius vf/dkj dk 
ç;ksx djsaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls ,y-th-ch-Vh-vkbZ-D;w- 
ds vfèkdkjksa dks ysdj dk;Zokgh dh vko';drk esa 
'kkfey fd;k tk ldrk gS@fd;s tk ldrs gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3
	 (d)	 1] 2 vkSj 3

	 65.	ftOgkGk ;kstuk fuEufyf[kr esa ls fdlls lacaf/r gS\

	 (a)	 ,llh@,lVh leqnk; ds yksxksa ds fy;s ,d ½.k 
;kstuk

	 (b)	 efgykvksa vkSj cPpksa ds iks"k.k fodkl ds fy;s 
;kstuk

	 (c)	 vaMeku&fudksckj dh vkfne tutkfr ds laj{k.k 
ds fy;s ;kstuk

	 (d)	 egkjk"Vª ds ftyksa esa ltk dkV jgs dSfn;ksa ds fy;s 
½.k ;kstuk

	 66.	,e~&çkbe Iys cqd (AIM-PRIME Playbook) ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bls f'k{kk foHkkx }kjk ykWUp fd;k x;k gSA
	 2.	 12 ekg dh vof/ esa çf'k{k.k vkSj ekxZn'kZu ds 

ekè;e ls foKku vk/kfjr xgu çkS|ksfxdh fopkjksa 
dks cktkj esa c<+kok nsuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 67.	MhiQfyfEid&2021 dk vk;kstu dgk¡ fd;k x;k\

	 (a)	 tkiku	 (b)	phu
	 (c)	 czkthy	 (d)	vkWLVªsfy;k

	 68.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 jk[khx<+h Hkkjr dk lcls cM+k gM+Iik LFky gSA
	 2.	 jk[khx<+h ds LFky dh [kqnkbZ vkj-bZ-,e- Oghyj 

}kjk dh xbZA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 69.	gky gh esa bosaV gksjkbtu VsyhLdksi (EHT) lqfo/k us 
lSxsVsfj;l A* uke dh igyh Nfo dh iqf"V dhA ;g 
fuEufyf[kr esa ls fdldh Nfo gS\

	 2.	 Employing organizations may ensure a 
workplace environment for LGBTIQ+ 
employees.

	 3.	 Trade unions LGBTIQ+ workers organize and 
exercise their right to freedom of association.

		  Which of the above statement(s) Can be included 
in the need of action regarding rights of LGBTIQ.?

	 (a)	 only 1
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 65.	 Jivhala Yojana is related to which of the following?
	 (a)	 A loan scheme for the people of SC/ST 

community
	 (b)	 Scheme for nutritional development of women 

and children
	 (c)	 Scheme for the protection of the primitive 

tribes of Andaman and Nicobar
	 (d)	 Loan scheme for prisoners serving sentences 

in the districts of Maharashtra
	 66.	 With reference to the M-Prime Playbook, consider 

the following statements:
	 1.	 It has been launched by the Department of 

Education.
	 2.	 To promote science based deep technology 

ideas in the market through training and 
guidance over a period of 12 months.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 only 2
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 67.	 Where was the Deaflympics-2021 organized?
	 (a)	 Japan 	 (b)	 China
	 (c)	 Brazil 	 (d)	 Australia

	 68.	 Consider the following statements:
	 1.	 Rakhigarhi is the largest Harappan site in 

India.
	 2.	 Excavation of the site of Rakhigarhi made by 

R.E.M.  Wheeler.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 only 2
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 69. 	Recently the Event Horizon Telescope (EHT) 
facility confirmed the first image named Sagatorius 
A*. To which of the followings this image belongs?
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	 (a)	 ,d ckSus xzg dh
	 (b)	 ,d CySd gksy dh
	 (c)	 ,d u, [kksts x, xzg dh
	 (d)	 lqnwj fLFkr vkdk'kxaxk dh

	 70.	Hkkjrh; bfrgkl ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 vlqjx<+ fdyk dks vksfM'kk jkT; ds çeq[k fdyscan 
cfLr;ksa esa lcls iqjkuk ekuk x;k gSA

	 2.	 vlqjx<+ fdyscan cLrh ukSoha lnh bZlk iwoZ dh gSA
	 3.	 vlqjx<+ ls ik¡p lkaLÑfrd pj.k çkIr gksrs gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2
	 (c)	 2 vkSj 3	 (d)	1] 2 vkSj 3

	 71.	ekr±M lw;Z eafnj ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;sA

	 1.	 ;g eafnj tEew vkSj d'ehj esa fLFkr gSA
	 2.	 ;g d'ehjh okLrqdyk dk mRÑ"V uewuk FkkA 

xkaèkkj]  xqIr vkSj phuh okLrqdyk ds :iksa dks 
fefJr fd;k FkkA

	 3.	 bldk fuekZ.k dkdkZsV jktoa'k ds 'kkld yfyrkfnR; 
eqDrkihM us djok;k FkkA

	 4.	 fldanj 'kkg fejh ds vkns'k ij bls u"V dj fn;k 
x;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1] 2 vkSj 3	 (b)	dsoy 2 vkSj 4
	 (c)	 dsoy 1] 3 vkSj 4	 (d)	1] 2] 3 vkSj 4

	 72-	dkdkZsV jktoa'k ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 bl oa'k dk laLFkkid nqyZHko/Zu FkkA
	 2.	 bl oa'k dh jkt/kuh ifjgkliqj FkhA
	 3.	 bUgksus tSuksa dks laj{k.k fn;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 73.	yfyrkfnR; eqDrkihM ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 blus ;'kksoeZu ds lkFk feydj vjcksa dks gjk;kA
	 2.	 blus vius jkT; dk foLrkj eè; phu rd 

fd;k FkkA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 (a)	  a dwarf planet
	 (b)	  a black hole
	 (c)	  a newly discovered planet
	 (d)	  distant galaxy
	 70.	 With reference to Indian History, consider the 

following statements:
	 1.	 Asurgarh Fort is considered to be the oldest 

among the major fortified settlements of the 
state of Odisha.

	 2.	 The Asurgarh fortified settlement dates back 
to the ninth century BC.

	 3.	 Five cultural stages are derived from Asurgarh.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 1 and only 2
	 (c)	 2 and 3 	 (d)	 1, 2 and 3
	 71.	 With reference to Martand Sun Temple, consider 

the following statements.
	 1.	 This temple is located in Jammu and Kashmir.
	 2.	 It was a masterpiece of Kashmiri architecture, 

blending forms of Gandhara, Gupta and 
Chinese architecture.

	 3.	 It was built by Lalitaditya Muktapida, the ruler 
of Karkot dynasty.

	 4.	 It was destroyed on the orders of Sikandar 
Shah Miri.

		  Which of the above statement(s) is/are correct?
	 (a)	 1, 2 and 3 only	 (b)	 2 and 4 only
	 (c)	 1, 3 and 4 only	 (d)	 1, 2, 3 and 4

	 72.	 With reference to the Karkot dynasty, consider the 
following statements:

	 1.	 The founder of this dynasty was Ralabardhana.
	 2.	 The capital of this dynasty was Parihaspur.
	 3.	 He gave protection to the Jains.

		  Which of the above statements is/are correct?
	 (a)	 1 and only 2 	 (b)	 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 73.	 With reference to Lalitaditya Muktapida, consider 

the following statements:
	 1.	 It together with Yashovarman defeated the 

Arabs.
	 2.	 It expanded its kingdom to central China.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 only 2
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2
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	 74.	fo'o LokLF; laxBu (WHO) ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 WHO dh dk;ZØe laca/h xfrfof/;ks a gsrq 
vfèkdka'k foÙkiks"k.k lnL; ns'kksa ds ;ksxnku ls 
vkrk gS tks çÑfr esa vfuok;Z gSaA

	 2.	 fo'o LokLF; laxBu ds ikl varjkZ"Vªh; fpark ds 
lkoZtfud LokLF; vkikrdky (ih,pbZvkbZlh) dks 
chekjh iQSyus dh vlk/kj.k ?kVuk ?kksf"kr djus dk 
vf/dkj gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 75.	fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ,dhÑr fFk;sVj dekaM laosnu'khy HkkSxksfyd {ks=kksa 
gsrq ,d gh dekaM ds usr`Ro us rhuksa lsukvksa dh 
,dhÑr deku ls gSA

	 2.	 ,dhÑr fFk;sVj dekaM ls j{kk bdkb;ksa esa csgrj 
lkeatL; LFkkfir gksxkA

	 3.	 'ksdkrdj lfefr }kjk rhu ,dhÑr dekaM fFk;sVj 
dekaM cukus dh fliQkfj'k dh xbZ FkhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2
	 (c)	 2 vkSj 3	 (d)	1] 2 vkSj 3

	 76.	ok;q Lora=k ç.kksnu çkS|ksfxdh (AIP) ds laca/ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g ikjaifjd xSj&ijek.kq iuMqfCc;ksa ds fy;s ,d 
rduhd gSA

	 2.	 ;g ikjaifjd iuMqCch dks lkekU; Mhty&bysfDVªd 
iuMqfCc;ksa dh rqyuk esa vf/d le; rd tyeXu 
jgus dh vuqefr nsrh gSA

	 3.	 ok;q Lora=k ç.kksnu LFkkfir djus ls ukoksa dh yackbZ 
vkSj otu de gks tkrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 77.	Hkkjrh; ukSlsuk dh 30 o"khZ; iuMqCch ;kstuk ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl ;kstuk esa o"kZ 2030 rd 24 ikjaifjd 
iuMqfCc;ksa dk Lons'kh fuekZ.k 'kkfey gSA

	 2.	 çkstsDV 75 (I) vkSj çkstsDV 75 bl ;kstuk dk 
fgLlk gSA

	 74.	 With reference to the World Health Organization 
(WHO), consider the following statements:

	 1.	 Most of the funding for WHO's program 
activities comes from contributions from 
member countries which are imperative in 
nature.

	 2.	 The World Health Organization reserves the 
right to declare a Public Health Emergency 
of International Concern (PHEIC) as an 
extraordinary event of disease outbreak.

		  Which of the above statements is/are correct?
	 (a)	 only 1
	 (b)	 only 2
	 (c)	 Both 1 and 2
	 (d)	 neither 1 nor 2
	 75.	 Consider the following statements:
	 1.	 Integrated Theater Command means the 

Unified Command of the three Services 
headed by a single command for sensitive 
geographical areas.

	 2.	 Integrated Theater Command will lead to 
better co-ordination among defense units.

	 3.	 The creation of three integrated command 
theater commands was recommended by the 
Shekatkar committee.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 1 and only 2
	 (c)	 2 and 3 	 (d)	 1, 2 and 3
	 76.	 With reference to Air Independent Propulsion 

Technology (AIP), consider the following 
statements:

	 1.	 It is a technology for conventional non-nuclear 
submarines.

	 2.	 This allows a conventional submarine to 
remain submerged for longer than normal 
diesel-electric submarines.

	 3.	 Installing air independent propulsion reduces 
boat length and weight.

		  Which of the above statement(s) are correct?
	 (a)	 1 and only 2 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3

	 77.	 With reference to the 30 year submarine plan of 
the Indian Navy, consider the following statements:

	 1.	 The plan includes indigenous construction of 
24 conventional submarines by the year 2030.

	 2.	 Project 75(I) and Project 75 are part of this 
scheme.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 78.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 1.	 vkWijs'ku nq/h	 &	�vkradokn fojks/h 
vfHk;ku

	 2.	 vkWijs'ku miyC/	 &	�ihMh,l esa 
dkykcktkjh dks 
jksdus ds fy;s

	 3.	 cksaxkslkxj vH;kl	 &	Hkkjr vkSj eysf'k;k
	 4.	 MstVZ ukbZV&21	 &	Hkkjr vkSj Úk¡l

	 	mi;ZqDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\

	 (a)	 dsoy 4	 (b)	1 vkSj 4
	 (c)	 2 vkSj 3	 (d)	1] 2 vkSj 3

	 79.	vle jkbiQYl ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g ns'k dk lcls iqjkuk v¼ZlSfud cy gSA
	 2.	 1987 esa Jhyadk esa Hkkjrh; 'kkafr lsuk ds fgLls 

ds :i esa Hkwfedk fuHkkbZ FkhA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 80.	fgan egklkxj ukSlsuk laxks"Bh leqæh vH;kl 2022 ds 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk vk;kstu fo'kk[kkiÙkue vkSj caxky dh [kkM+h 
esa vk;ksftr fd;k x;kA

	 2.	 bldk mís'; lnL; ns'kksa dh ukS lsukvksa ds eè; 
ekuoh; lgk;rk vkSj vkink esa varj&lapkyu dks 
c<+kuk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 81.	fiQjkst 'kkg rqxyd }kjk fufeZr ekypk egy fuEufyf[kr 
esa ls dgk¡ ij vofLFkr gS\

	 (a)	 fnYyh	 (b)	vkxjk
	 (c)	 tkSuiqj	 (d)	fiQjkstiqj

	 82.	dsaæh; iqjkrÙo lykgdkj cksMZ ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bldk xBu Hkkjrh; iqjkrÙo loZs{k.k ,oa iqjkrkfÙod 
vuqla/ku ds {ks=k esa laidZ dks etcwr djus ds 
fy;s fd;k x;k gSA

	 2.	 ;g cksMZ o"kZ esa nks ckj cSBd djsxkA

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1	 (b)	 only 2

	 (c)	 Both 1 and 2	 (d)	 neither 1 nor 2

	 78.	 Consider the following pairs:
	 1.	 Operation Dudhi	 -	 Anti-Terrorist 

Operation

	 2.	 Operation Upalabdh	 -		 To prevent black 
marketing in PDS

	 3.	 Bongosagar exercise	 -	 India and Malaysia

	 4.	 Desert Night-21	 -	 India and France

		  Which of the above pairs are correctly matched?
	 (a)	 4 only 	 (b)	 1 and 4

	 (c)	 2 and 3 	 (d)	 1, 2 and 3

	 79.	 With reference to the Assam Rifles, consider the 
following statements:

	 1.	 This country is the oldest paramilitary force.

	 2.	 In 1987 Sri Lanka had a role as part of Indian 
peacekeeping army.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	  only 2

	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 80. 	With reference to the Indian Ocean Naval 
Symposium Maritime Exercise 2022, consider the 
following statements:

	 1.	 It was organized in Visakhapatnam and Bay 
of Bengal.

	 2.	 Its objective is to increase interoperability 
in humanitarian aid and disaster among the 
navies of member countries.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 only 2

	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 81.	 What is the location of the Malcha Mahal built by 
Firoz Shah Tughlaq?

	 (a)	 Delhi 	 (b)	 Agra

	 (c)	 Jaunpur 	 (d)	 Firozpur

	 82.	 With reference to the Central Advisory Board of 
Archaeology, consider the following statements:

	 1.	 It has been formed to strengthen contacts in 
the field of Archaeological Survey of India 
and archaeological research.

	 2.	 This Board shall meet twice in a year.
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 83.	dUgsjh xqiQk ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g xqiQk lat; xka/h jk"Vªh; m|ku esa vofLFkr gSA
	 2.	 bldk lcls igyk o.kZu iQkáku }kjk fd;k x;k FkkA
	 3.	 bl xqiQk dks lkrokgu] okdkVd vkfn 'kkldksa 

}kjk laj{k.k çnku fd;k x;kA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2
	 (c)	 2 vkSj 3	 (d)	1] 2 vkSj 3

	 84.	vuax rky >hy fuEufyf[kr esa ls dgk¡ ij fLFkr gS\

	 (a)	 Hkjriqj	 (b)	fnYyh
	 (c)	 Xokfy;j	 (d)	eFkqjk

	 85.	Hkkjrh; rVj{kd cy }kjk jk"Vªh; Lrjh; çnw"k.k çfrfØ;k 
vH;kl (NATPOLREX-VIII) ds vkBosa laLdj.k dk 
vk;kstu dgk¡ fd;k x;k\

	 (a)	 eqacbZ canjxkg
	 (b)	 dksphu canjxkg
	 (c)	 fo'kk[kkiÙkue canjxkg
	 (d)	 eksjeqxkvks canjxkg

	 86.	fnO;kax vf/dkj vf/fu;e 2016 ds lanHkZ es a 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl vf/fu;e ds rgr fnO;kaxtuksa ljdkjh ukSdfj;ksa 
esa 3 çfr'kr vkj{k.k dks c<+kdj 4 çfr'kr dj 
fn;k x;kA

	 2.	 ;g vf/fu;e 2019 ls çHkkoh gqvk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1
	 (b)	 dsoy 2
	 (c)	 1 vkSj 2 nksuksa
	 (d)	 u rks 1 vkSj u gh 2

	 87.	ç/kuea=kh xzke lM+d ;kstuk (PMGSY) ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;sA

	 1.	 ;g vlac¼ cfLr;ksa ds fy;s gj ekSle esa lM+d 
ds ekè;e ls dusfDVfoVh çnku djsxkA

	 2.	 iwokZsÙkj vkSj fgeky;h jkT;ksa esa ;kstuk ds rgr 
LohÑr ifj;kstukvksa ds laca/ esa dsaæ ljdkj 100» 
ifj;kstuk ykxr ogu djrh gSA

	 3-	 PMGSY ds rgr fufeZr xzkeh.k lM+dsa Hkkjrh; 
lM+d dkWUxzsl (IRC) ds çko/ku ds vuqlkj gksaxhA

		  Which of the above statements is/are correct?
	 (a)	 only 1  	 (b)	 only  2
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 83.	 With reference to the Kanheri cave, consider the 
following statements:

	 1.	 This cave is located in the Sanjay Gandhi 
National Park.

	 2.	 It was first described by Fahien.
	 3.	 This cave was patronized by the rulers of 

Satavahana, Vakataka etc.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 1 and only 2
	 (c)	 2 and 3 	 (d)	 1, 2 and 3
	 84.	 Where is Anang Tal Lake situated?
	 (a)	 Bharatpur 	 (b)	 Delhi
	 (c)	 Gwalior 	 (d)	 Mathura
	 85.	 Where was the 8th edition of National Level 

Pollution Response Exercise (NATPOLREX-VIII) 
organized by Indian Coast Guard?

	 (a)	 Mumbai port
	 (b)	 Cochin Port
	 (c)	 Visakhapatnam Port
	 (d)	 Mormugao port
	 86.	 With reference to the Rights of Persons with 

Disabilities Act 2016, consider the following 
statements:

	 1.	 Under this act, the reservation in government 
jobs for persons with disabilities was increased 
from 3 percent to 4 percent.

	 2.	 This Act has come into force with effect from 
2019.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 
	 (b)	 only 2
	 (c)	 Both 1 and 2
	 (d)	 neither 1 nor 2
	 87.	 With reference to the Pradhan Mantri Gram Sadak 

Yojana (PMGSY), consider the following 
statements.

	 1.	 It will provide all-weather road connectivity 
to the unconnected habitations.

	 2.	 The Central Government bears 100% of the 
project cost in respect of projects sanctioned 
under the scheme in North Eastern and 
Himalayan States.

	 3.	 The rural roads constructed under PMGSY 
will be as per the provision of Indian Road 
Congress (IRC).
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	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 3
	 (c)	 dsoy 1 vkSj 3
	 (d)	 1] 2 vkSj 3

	 88.	Hkkjrekyk ifj;kstuk ds dk;kZUo;u ds fy;s fuEufyf[kr 
esa ls dkSu mÙkjnk;h gS\

	 (a)	 vkokl vkSj 'kgjh ekeyksa ds ea=kky;
	 (b)	 xzkeh.k fodkl ea=kky;
	 (c)	 dkS'ky fodkl vkSj m|ferk ea=kky;
	 (d)	 lM+d ifjogu vkSj jktekxZ ea=kky;

	 89.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 	 (esyk@ioZ)		 (LFkku)
	 1.	 lwjtdqaM esyk	 &	gfj;k.kk
	 2.	 iq"dj esyk	 &	jktLFkku
	 3.	 gjsyk esyk	 &	mÙkjk[kaM
	 4.	 Hkxksfj;k ioZ	 &	eè; çns'k

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe	 (b)	dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe

	 90.	ç/kuea=kh tu vkjksX; ;kstuk (PM-JAY) ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g iwjh rjg ls ljdkj }kjk foÙk iksf"kr gS vkSj 
dk;kZUo;u dh ykxr dsaæ vkSj jkT; ljdkjksa ds 
chp lk>k dh tkrh gSA

	 2.	 ;g iwjh rjg ls dS'kysl vkSj isijysl ;kstuk gSA
	 3.	 ;g ekè;fed vkSj r`rh;d ns[kHkky vLirky esa 

HkrhZ ds fy;s çfr ifjokj çfr o"kZ 5 yk[k #i, 
dk doj çnku djrh gSA

	 4.	 blds rgr ifjokj dk vkdkj] mez ;k fyax ds 
fy;s dksbZ iwoZfu/kZfjr ekunaM ugha gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2
	 (b)	 dsoy 2 vkSj 3
	 (c)	 dsoy 1] 2 vkSj 3
	 (d)	 1] 2] 3 vkSj 4

	 91.	¶fnO; dyk 'kfDr¸ ftldk dHkh&dHkh lekpkjksa esa 
mYys[k fd;k tkrk gS] fuEufyf[kr esa ls fdlls 
lacaf/r gS\

	 (a)	 yksd dykvksa dks c<+kok nsus ds fy;s laLÑfr 
ea=kky; dh ,d igy

	 (b)	 ubZ f'k{kk uhfr ds vuqlkj O;kolkf;d çf'k{k.k dks 
c<+kok nsus ds fy;s f'k{kk ea=kky; dh ,d igy

		  Which of the above statements is/are correct?
	 (a)	 1 and only 2
	 (b)	 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 88.	 Who among the following is responsible for the 

implementation of Bharatmala project?
	 (a)	 Ministry of Housing and Urban Affairs
	 (b)	 Ministry of Rural Development
	 (c)	 Ministry of  Skil l  Development and 

Entrepreneurship
	 (d)	 Ministry of Road Transport and Highways
	 89.	 Consider the following pairs:
		  (fair/festival) 	 -	 (place)
	 1.	 Surajkund Mela	 -	 Haryana
	 2.	 Pushkar Fair	 -	 Rajasthan
	 3.	 Harela Fair	 -	 Uttarakhand
	 4.	 Bhagoria Festival	 -	 Madhya Pradesh

		  How many of the above pairs are correctly 
matched?

	 (a)	 only one pair 	 (b)	 only two pairs
	 (c)	 only three pairs 	 (d)	 all four pairs
	 90.	 With reference to the Pradhan Mantri Jan Arogya 

Yojana (PM-JAY), consider the following 
statements:

	 1.	 It is fully funded by the government and the 
cost of implementation is shared between the 
central and state governments.

	 2.	 It is completely cashless and paperless 
scheme.

	 3.	 It provides a cover of Rs 5 lakh per family 
per year for secondary and tertiary care 
hospitalization.

	 4.	 There is no pre-determined criteria for family 
size, age or gender.

		  Which of the above statement(s) is/are correct?
	 (a)	 1 and only 2
	 (b)	 2 and 3 only
	 (c)	 1, 2 and 3 only
	 (d)	 1, 2, 3 and 4
	 91.	 “Divya Kala Shakti” which is sometimes 

mentioned in news is related to which of the 
following?

	 (a)	 An initiative of the Ministry of Culture to 
promote folk arts

	 (b)	 An initiative of the Ministry of Education to 
promote vocational training as per the New 
Education Policy
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	 (c)	 lkekftd U;k; vkSj vf/dkfjrk ea=kky; }kjk yfyr 

dyk çn'kZu esa ihMCY;wMh dh {kerk dk çn'kZu 

djus ds fy;s ,d lkaLÑfrd dk;ZØeA

	 (d)	 euksjatd xfrfof/;ksa esa layXu VªkaltsaMjksa dk ,d 

,uthvks

	 92.	Hkkjr ds [ksy iqjLdkjksa ds laca/ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 xzSaMekLVj fo'oukFku vkuan o"kZ 1991&92 esa [ksy 
jRu (estj è;kupan [ksy jRu iqjLdkj) iqjLdkj 

ds igys çkIrdrkZ FksA

	 2.	 vtZqu iqjLdkj pkj o"kks± esa [ksyksa esa loZJs"B çn'kZu 

ds fy;s fn;k tkrk gSA

	 3.	 jk"Vªh; [ksy çksRlkgu iqjLdkj fiNys pkj o"kks± esa 

[ksy dks c<+kok nsus esa dkWikZsjsV~l dh Hkkxhnkjh dks 

ekU;rk nsrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3
	 (c)	 dsoy 1 vkSj 3	 (d)	1] 2 vkSj 3

	 93.	fuEufyf[kr ;qXeksa ij fopkj dhft;s%

	 1.	 ns'k LVSd (DESH	 &	�vkWuykbu çf'k{k.k ds

	 	 STACK)	 	�ekè;e ls fLdfyax] 

jhfLdfyax vkSj 

vifLdfyax fd;k 

tk,xkA

	 2.	 thou çek.k	 &	�isa'kuHkksfx;ksa ds fy;s 

thou çek.k gsrq 

fMftVy lsok

	 3.	 meax	 &	�Hkkjr esa [ksy laLÑfr 

dks c<+kok nsxk

	 4.	 ,bZih,l (AePS)	 &	�,d bysDVªkWfud 

Hkqxrku igy

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\

	 (a)	 dsoy ,d ;qXe

	 (b)	 dsoy nks ;qXe

	 (c)	 dsoy rhu ;qXe

	 (d)	 lHkh pkjksa ;qXe

	 94.	LVsV vkWiQ Xykscy DykbesV fjiksVZ fuEufyf[kr esa ls 

dkSu tkjh djrk gS\

	 (a)	 la;qDr jk"Vª tyok;q ifjorZu ÚseodZ lEesyu

	 (b)	 fo'o ekSle foKku laxBu

	 (c)	 la;qDr jk"Vª lrr~ fodkl lek/ku usVodZ

	 (d)	 ;wukbVsM us'ku MsoyiesaV çksxzke

	 (c)	 A cultural program to showcase the potential 
of PWDs in performing fine arts by the 
Ministry of Social Justice and Empowerment.

	 (d)	 an NGO of transgenders engaged in 
recreational activities

	 92.	 With reference to Sports Awards of India, consider 
the following statements:

	 1.	 Grandmaster Viswanathan Anand was the 
first recipient of Khel Ratna (Major Dhyan 
Chand Khel Ratna Award) award in the year 
1991&92.

	 2.	 Arjuna Award is given for the best performance 
in sports in four years.

	 3.	 Rashtriya Khel Protsahan Puraskar recognizes 
the participation of corporates in promotion 
of sports over the last four years.

		  Which of the above statements are correct?
	 (a)	 1 and only 2 	 (b)	 2 and 3 only
	 (c)	 1 and 3 only 	 (d)	 1, 2 and 3
	 93.	 Consider the following pairs:
	 1.	 DESH STACK	 -	 Skilling, reskilling 

and upskilling will 
be done through 
online training

	 2.	 Jeevan Pramaan	 -	 Digital service for 
life certificate for 
pensioners

	 3.	 UMANG	 -	 Will promote sports 
culture in India

	 4.	 AePS	 -	 A n  E l e c t r o n i c 
Payment Initiative

		  How many of the above pair(s) is/are correctly 
matched?

	 (a)	 only one pair
	 (b)	 only two pairs
	 (c)	 only three pairs
	 (d)	 all four pairs

	 94.	 Which of the following releases the State of Global 
Climate Report?

	 (a)	 United Nations Climate Change Framework 
Convention

	 (b)	 World Meteorological Organization
	 (c)	 United Nations Sustainable Development 

Solutions Network
	 (d)	 United Nation Development Program
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	 95.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 çkWfiQV ÚkWe isu fjiksVZ vkWDliQSe baVjus'kuy }kjk 

tkjh dh tkrh gSA
	 2.	 [kk| ladV ij oSf'od fjiksVZ [kk| ,oa Ñf"k laxBu 

}kjk tkjh dh tkrh gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 96.	fo'o çsl Lora=krk fjiksVZ 2022 ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bl fjiksVZ esa Hkkjr 150osa LFkku ij gSaA
	 2.	 bl lwpdkad esa 'kh"kZ ukWoZs] MsuekdZ] LohMu] 

,LVksfu;k rFkk fiQuySaM gSaA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 97.	vczkge le>kSrk fdu nks ns'kksa ds eè; fd;k x;k gSA
	 (a)	 vesfjdk vkSj lÅnh vjc ds eè;
	 (b)	 btjkby vkSj vesfjdk ds eè;
	 (c)	 lÅnh vjc vkSj dqoSr ds eè;
	 (d)	 btjkby vkSj la;qDr vjc vehjkr ds eè;

	 98.	fuEufyf[kr ;qXeksa ij ij fopkj dhft;s%
	 1.	 ,lMhth 5	 &	ySafxd lekurk
	 2.	 ,lMhth 7	 &	lLrh vkSj LoPN ÅtkZ
	 3.	 ,lMhth 13	 &	Hkwfe ij thou
	 4.	 ,lMhth 15	 &	tyok;q dkjZokbZ

	 	mi;ZqDr ;qXeksa esa ls fdrus ;qXe lgh lqesfyr gSa\
	 (a)	 dsoy ,d ;qXe	 (b)	dsoy nks ;qXe
	 (c)	 dsoy rhu ;qXe	 (d)	lHkh pkjksa ;qXe

	 99.	feuekVk dUosa'ku ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 blds pkSFks lEesyu dk vk;kstu baMksusf'k;k ds 
ckyh esa vk;ksftr fd;k x;kA

	 2.	 ;g ,d ckè;dkjh le>kSrk gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	100.	fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 yk&jh;wfu;u }hi vVykafVd egklkxj esa fLFkr gSA
	 2.	 iQkWdySaM }hi nf{k.kh ç'kkar egklkxj esa fLFkr gSA

	 	mi;ZqDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	u rks 1 vkSj u gh 2

	 95.	 Consider the following statements:
	 1.	 Profit from Pain Report is released by Oxfam 

International.
	 2.	 The Global Report on the Food Crisis 

is released by the Food and Agriculture 
Organization.

		  Which of the above statement(s) is/are not correct?
	 (a)	 only 1 	 (b)	 only 2
	 (c)	 Both 1 and 2 	 (d)	 Neither 1 nor 2

	 96.	 With reference to the World Press Freedom Report 
2022, consider the following statements:

	 1.	 India is ranked at 150th in this report.
	 2.	 Norway, Denmark, Sweden, Estonia and 

Finland are at the top countries on this index.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 only 2
	 (c)	 Both 1 and 2 	 (d)	 neither 1 nor 2
	 97.	 The Abraham Pact been Signed between which of 

the following countries?
	 (a)	 Between America and Saudi Arabia
	 (b)	 Between Israel and America
	 (c)	 Between Saudi Arabia and Kuwait
	 (d)	 Between Israel and United Arab Emirates

	 98.	 Consider the following pairs:
	 1.	 SDG 5 - Gender Equality
	 2.	 SDG 7 - Affordable and Clean Energy
	 3.	 SDG 13 - Life on Land
	 4.	 SDG 15 - Climate Action

		  How many of the above pair(s) are correctly 
matched?

	 (a)	 only one pair 	 (b)	 only two pairs
	 (c)	 only three pairs 	 (d)	 all four pairs
	 99.	 With reference to the Minamata Convention, 

consider the following statements:
	 1.	 Its fourth conference was held in Bali, 

Indonesia.
	 2.	 This is a binding agreement.

		  Which of the above statement(s) is/are not correct?
	 (a)	 only 1	 (b)	 only 2
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	100.	 Consider the following statements:
	 1.	 La-Reunion Island is located in the Atlantic 

Ocean.
	 2.	 The Falkland Islands are located in the South 

Pacific Ocean.

		  Which of the above statement(s) is/are correct?
	 (a)	 only 1 	 (b)	 only 2
	 (c)	 Both 1 and 2 	 (d)	 neither 1 nor 2


